Process Exp. # of u7y events | Exp. # of ey events
W+ signal 164400 £ 9000 96 000 =7 000
W+ non-fiducial 2860 £ 300 1500 £ 200
Zy 45000 + 10000 22000 £+ 6 000
top/VV 23100 4900 16 500 &= 900
nonprompt photon 96 000 = 4 600 47000 = 2200
nonprompt lepton 23300 £ 6900 27000 £ 8000
double nonprompt 14 000 =+ 4200 16 000 £ 5000
e-induced photon 8180 4 800 150 000 £ 40000
pileup 11100 £ 800 4900 + 500
photon conversion 0+0 8300 £ 500
sum 390000 £ 20000 350000 £ 50000

Obs. # of uy events

Obs. # of ey events

395818

385224




